H28 R B+ & IaHE

(L) H+B% ,DUJR%QA%E%«E [%n‘l’]
= FER=00%F R/ TE=28FEXIRMHEEE WHE 285F%E

=, =
IEE gl & *& =
F # m f& HEEE g F # | BIXE HES
b TiE (F) (a) (M) (M) (F) (kg) (M)
R AT 0.0 0 0
(NTETES 0 0.0 0 0
B7ILTRXR 0 0.0 0 0
(IBech - FTR) 0 0.0 0 0
&R A 124 2, 255.0 85, 800, 000 1, 386, 930
(IBLEE) 105 1, 852.0 65, 120, 000 1, 041, 600 7 6,172 1, 112, 000
& 5 124 2,255. 0 85, 800, 000 1, 386, 930 7 6,172 1, 112, 000
BIEE 105 1,852.0 65, 120, 000 1, 041, 600 29| 20,968| 4,130, 800
HEFL | 15 1y, 121. 8% 131. 8% 133.2%)  24.1%|  29.4% 26. 9%
(T)—a % HHM&A%&%%E [RES]
5152 FER=204FBE/ FER=28F (X IB SR #HE 285 E
=, ==
IEE gl X *& =
F # m fE HiEEEE BUnE & F # | BIE HEE
X A4 (F) (a) (M) (M) (F) (kg) (M)
AT 0.0 0 0
(NTETSES 0 0.0 0 0
B7IVTRAXR 0 0.0 0 0
(IBech - FTER) 0 0.0 0 0
L ERZ P 90 1,626.5 67, 880, 000 942, 555
(IBdEE) 75 1, 338. 1 53, 340, 000 707, 720 3 2,395 493, 500
& % 90 1,626.5 67, 880, 000 942, 555 3 2,395 493, 500
B4 BE 75 1,338. 1 53, 340, 000 707, 720 22| 17,128| 3,632, 700
HATEL |9 0% 121. 6% 127. 3% 133.2%|  13.6% 14. 0% 13. 6%
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(T)—b FMWEFJENLEERE [£1])
5|5 FER=20E/ TR=28FEIXIBMEEE WS .28FE
Gl = # =
IHE
F # m fE HiEEE g F & | BIRE HEE
X% (F) (a) (M (M) (F) (kg) (M)
AT 0 0.0 0 0
(=MTETES) 0 0.0 0 0
M7 INTRXA 0 0.0 0 0
(1Rech - FIED) 0 0.0 0 0
AL ER 2 Fir 12 265. 9 10, 650, 000 101, 365
(BEE) 9 174. 4 6, 400, 000 86, 575 1 692 158, 700
& &t 12 265. 9 10, 650, 000 101, 365 1 692 158, 700
BIEEE 9 174. 4 6, 400, 000 86, 575 1 408 42, 500
A L 133. 3% 152. 5% 166. 4% 117.1%| 100.0%| 169. 6% 373. 4%
() —c FHEREBEERE [TH1]
5|52 EER=204 R/ FR=-28EE(IIDHEEE HE 285E
=, =
IEE gl o *& =
F # m iE HESE BUnE & F # | BIXE HEE
S driE (F) (a) (M) (M) (F) (kg) (M)
AT 0 0.0 0 0
(NTETSES 0 0.0 0 0
B7ILTRAXR 0 0.0 0 0
(1B ieth - FEp) 0 0.0 0 0
L ERZ P 14 210.6 4, 880, 000 256, 970
(BLEE) 13 201.3 3, 250, 000 170, 625 2 856 150, 600
& & 14 210.6 4, 880, 000 256, 970 2 856 150, 600
BIEE 13 201.3 3, 250, 000 170, 625 6 3,432 455, 600
R4 L 107. 7% 104. 6% 150. 2% 150.6%|  33.3% 24. 9% 33. 1%
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(T)—d FHERERBEERE [YVA ]
5% FER=204FE/ TR=-28FEIJIBHEEE HE 285
HE Gl = # =
F # m f& HEEE g F # | BIE HES
b AiE (F) (a) (M) (M) (F) (kg) (M)
AT 0 0.0 0 0
(NTETES 0 0.0 0 0
&R AR 8 152.0 2, 390, 000 86, 040
(BEEE) 8 138.2 2, 130, 000 76, 680 1 2,229 309, 200
& it 8 152.0 2,390, 000 86, 040 1 2,229 309, 200
BIEE 8 138.2 2, 130, 000 76, 680 0 0 0
A4 L 100. 0% 110. 0% 112. 2% 112. 2%
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